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QUESTION 1

After a subsequent inter-MSC handover (from MSCa to MSCb, then to MSCc) in case of PSTN originated mobile
terminated call, the new traffic connection is? 

A. PSTN-GMSC-MSCa-MSCb-MSCc. 

B. PSTN-GMSC-MSCa-MSCc. 

C. PSTN-GMSC-MSCb-MSCc. 

D. PSTN-GMSC-MSCc. 

Correct Answer: B 

 

QUESTION 2

Diagnostic programs are executed on BSC functional units having which state? 

A. TE-EX. 

B. SE-OU. 

C. SE-NH. 

D. WO-EX. 

Correct Answer: A 

 

QUESTION 3

What is BR Evolution - BS2xx@Flexi BSC family? 

A. Network evolution with GEMINI using the mcBSC and mcRNC. 

B. Network evolution with GEMINI.High Capacity FlexiBSC enables BSC consolidation.Existing BTS Plus will stay
untouched in the network - Only software update and "re-homing" to new Flexi BSCs. 

C. Cloning of older BSC3i and ex Siemens eBSC to the new mcBSC, due to phase out of the former HW. 

D. Network evolution with Common Abis.High Capacity FlexiBSC enables BSC consolidation.Existing Ex Motorola BTS
Horizon II will stay untouched in the network - Only software update and "re-homing" to new Flexi BSCs. 

Correct Answer: B 

 

QUESTION 4

What is the service terminal extension for BCF software handling? 
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A. BOXANAGX. 

B. VIMMLAGX. 

C. RPHASESX. 

D. EPSHANGX. 

Correct Answer: C 

 

QUESTION 5

What type of identifier with value zero, is used for user signaling from an SGSN to a particular BSS, when the user is
NOT in dedicated mode? 

A. NSEI = 0. 

B. BVCI = 0. 

C. NSVCI = 0. 

D. DLCI = 0. 

Correct Answer: B 
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